M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

FR28FE1A18

FFZl um M= J& ] JEE H ERRFRE i KUt
i3 °C mm 1651 m./'s h % hPa
1 *kkok *okok *okok *okok *okok *okok koK
2 *kkok koK *okok *okok *okok koK koK
3 *okok *okok *okok *okok *okok *okok koK
4 *kkok koK *okok koK koK koK koK
5 *okok *okok *okok *okok *okok *okok koK
6 *okok *okok *okok koK koK koK koK
7 *kkok *okok *okok *okok *okok *okok koK
8 *okok *okok *okok koK koK koK koK
9 *okok *okok *okok *okok *okok *okok koK
10 KKk KKk KKk KKk KKk *okok KoKk
11 KKk KKk KKk KoKk KoKk *okok KoKk
12 KKk KKk KKk KKk KKk *okok *okok
13 *okok *okok *okok *okok *okok koK koK
14 KKk KKk KKk KKk KKk *okok *okok
15 *okok *okok *okok koK koK *okok koK
16 *okok *okok *okok *okok *okok *okok koK
17 *kkok *kkok *kkok koK koK *okok koK
18 *okok *okok *okok *okok *okok *okok koK
19 koK koK *okok koK koK *okok koK
20 KKk KKk KKk KKk KoKk *okok *okok
21 KKk KKk KKk KKk KoKk *okok *okok
22 KKk KKk KKk KoKk KoKk *okok *okok
23 *okok *okok *okok *okok *okok *okok koK
24 KKk KKk KKk KoKk KoKk *okok *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥H #DIV/0! #DIV/0! #DIV/0! #DIV/0!
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd j&ﬁjﬂ H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘?[ﬁj",—r_‘,ﬁ H5.3.22 1024.5 bd jE_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H25.12.31 DEAREIE A RIZLTLET ,




/BB GFXF/MIOR)REEBRAT—42 (5345 1]
t#&:20F25% HEiF:136E04%
k2841 H2H
FFZl Kum M= J& ] R H ERRFRE R KUt
i °Cc mm 1651 m./’s h % hPa
1 *okok *okok *okok *okok *okok *okok koK
2 koK koK *okok *okok *okok koK koK
3 *okok *okok *okok *okok *okok *okok koK
4 *okok koK *okok koK koK koK koK
5 *okok *okok *okok *okok *okok *okok koK
6 *okok *okok *okok koK koK koK koK
7 *okok *okok *okok *okok *okok *okok koK
8 *okok *okok *okok koK koK koK koK
9 *okok *okok *okok *okok *okok *okok koK
10 KKk KKk KKk KKk KKk *okok KoKk
11 KKk KKk KKk KoKk KoKk *okok KoKk
12 KKk KKk KKk KKk KKk *okok *okok
13 *okok *okok *okok *okok *okok koK koK
14 KKk KKk KKk KKk KKk *okok *okok
15 *okok *okok *okok koK koK *okok koK
16 *okok *okok *okok *okok *okok *okok koK
17 *kkok koK *okok koK koK *okok koK
18 *okok *okok *okok *okok *okok *okok koK
19 koK koK *okok koK koK *okok koK
20 KKk KKk KKk KKk KoKk *okok *okok
21 KKk KKk KKk KKk KoKk *okok *okok
22 KKk KKk KKk KoKk KoKk *okok *okok
23 *okok *okok *okok *okok *okok *okok koK
24 KKk KKk KKk KoKk KoKk *okok *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
&S5t 0.0 *okok
BEgAaT—42 MDE * * *
=Ry EE E OC = = EE E OC
RE R H1§6J1 36.1 RESE Hzfz.i 17.7
REIE T30 10245 RERE 790 930.1
= =|EE2FEHH|] mm/da = « |EEEAHR] m/s
RABRET 0575 2505 : FARE [F 797 55.2
AT—AIL, $63.9.25~H25.12.31 DEAREIE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

k2841 H3H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 *kkok *kkok *okok *okok *okok *okok koK
2 *kkok *kkok *okok *okok *okok koK koK
3 *okok *okok *okok *okok *okok *okok koK
4 *kkok *kkok *okok koK koK koK koK
5 *okok *okok *okok *okok *okok *okok koK
6 *okok *okok *okok koK koK koK koK
7 *kkok *kkok *okok *okok *okok *okok koK
8 *okok *okok *okok koK koK koK koK
9 *okok *okok *okok *okok *okok *okok koK
10 KKk KKk KKk KKk KKk *okok KoKk
11 KKk KKk KKk KoKk KoKk *okok KoKk
12 KKk KKk KKk KKk KKk *okok *okok
13 *okok *okok *okok *okok *okok koK koK
14 KKk KKk KKk KKk KKk *okok *okok
15 *okok *okok *okok koK koK *okok koK
16 *okok *okok *okok *okok *okok *okok koK
17 *kkok *kkok *kkok koK koK *okok koK
18 *okok *okok *okok *okok *okok *okok koK
19 koK koK *okok koK koK *okok koK
20 KKk KKk KKk KKk KoKk *okok *okok
21 KKk KKk KKk KKk KoKk *okok *okok
22 KKk KKk KKk KoKk KoKk *okok *okok
23 *okok *okok *okok *okok *okok *okok koK
24 KKk KKk KKk KoKk KoKk *okok *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—ﬁ;’ﬂ H13.6.5 36.1 brd j&;—ﬁjﬁi H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = j&;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H25.12.31 DEAREIE A RIZLTLET ,




/BB GFXF/MIOR)REEBRAT—42 (5345 1]
t#&:20F25% HEiF:136E04%
T RE284%1H4H
FFZl Kum M= J& ] R H ERRFRE R KUt
i °Cc mm 1651 m./’s h % hPa
1 *okok *okok *okok *okok *okok *okok koK
2 koK koK *okok *okok *okok koK koK
3 *okok *okok *okok *okok *okok *okok koK
4 *okok koK *okok koK koK koK koK
5 *okok *okok *okok *okok *okok *okok koK
6 *okok *okok *okok koK koK koK koK
7 *okok *okok *okok *okok *okok *okok koK
8 *okok *okok *okok koK koK koK koK
9 *okok *okok *okok *okok *okok *okok koK
10 KKk KKk KKk KKk KKk *okok KoKk
11 KKk KKk KKk KoKk KoKk *okok KoKk
12 KKk KKk KKk KKk KKk *okok *okok
13 *okok *okok *okok *okok *okok koK koK
14 KKk KKk KKk KKk KKk *okok *okok
15 *okok *okok *okok koK koK *okok koK
16 *okok *okok *okok *okok *okok *okok koK
17 *kkok koK *okok koK koK *okok koK
18 *okok *okok *okok *okok *okok *okok koK
19 koK koK *okok koK koK *okok koK
20 KKk KKk KKk KKk KoKk *okok *okok
21 KKk KKk KKk KKk KoKk *okok *okok
22 KKk KKk KKk KoKk KoKk *okok *okok
23 *okok *okok *okok *okok *okok *okok koK
24 KKk KKk KKk KoKk KoKk *okok *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
&S5t 0.0 *okok
BEgAaT—42 MDE * * *
=Ry EE E OC = = EE E OC
RE R H1§6J1 36.1 RESE Hzfz.i 17.7
REIE T30 10245 RERE 790 930.1
= =|EE2FEHH|] mm/da = « |EEEAHR] m/s
RABRET 0575 2505 : FARE [F 797 55.2
AT—AIL, $63.9.25~H25.12.31 DEAREIE A RIZLTLET ,




/BB GFXF/MIOR)REEBRAT—42 (5345 1]
t#&:20F25% HEiF:136E04%
k2841 H5H
FFZl Kum M= J& ] R H ERRFRE R KUt
i °Cc mm 1651 m./’s h % hPa
1 *okok *okok *okok *okok *okok *okok koK
2 koK koK *okok *okok *okok koK koK
3 *okok *okok *okok *okok *okok *okok koK
4 *okok koK *okok koK koK koK koK
5 *okok *okok *okok *okok *okok *okok koK
6 *okok *okok *okok koK koK koK koK
7 *okok *okok *okok *okok *okok *okok koK
8 *okok *okok *okok koK koK koK koK
9 *okok *okok *okok *okok *okok *okok koK
10 KKk KKk KKk KKk KKk *okok KoKk
11 KKk KKk KKk KoKk KoKk *okok KoKk
12 KKk KKk KKk KKk KKk *okok *okok
13 *okok *okok *okok *okok *okok koK koK
14 KKk KKk KKk KKk KKk *okok *okok
15 *okok *okok *okok koK koK *okok koK
16 *okok *okok *okok *okok *okok *okok koK
17 *kkok koK *okok koK koK *okok koK
18 *okok *okok *okok *okok *okok *okok koK
19 koK koK *okok koK koK *okok koK
20 KKk KKk KKk KKk KoKk *okok *okok
21 KKk KKk KKk KKk KoKk *okok *okok
22 KKk KKk KKk KoKk KoKk *okok *okok
23 *okok *okok *okok *okok *okok *okok koK
24 KKk KKk KKk KoKk KoKk *okok *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
&S5t 0.0 *okok
BEgAaT—42 MDE * * *
=Ry EE E OC = = EE E OC
RE R H1§6J1 36.1 RESE Hzfz.i 17.7
REIE T30 10245 RERE 790 930.1
= =|EE2FEHH|] mm/da = « |EEEAHR] m/s
RABRET 0575 2505 : FARE [F 797 55.2
AT—AIL, $63.9.25~H25.12.31 DEAREIE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

TR 28%1H6H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 *kkok *kkok *okok *okok *okok *okok koK
2 *kkok *kkok *okok *okok *okok koK koK
3 *okok *okok *okok *okok *okok *okok koK
4 *kkok *kkok *okok koK koK koK koK
5 *okok *okok *okok *okok *okok *okok koK
6 *okok *okok *okok koK koK koK koK
7 *kkok *kkok *okok *okok *okok *okok koK
8 *okok *okok *okok koK koK koK koK
9 *okok *okok *okok *okok *okok *okok koK
10 KKk KKk KKk KKk KKk *okok KoKk
11 KKk KKk KKk KoKk KoKk *okok KoKk
12 KKk KKk KKk KKk KKk *okok *okok
13 *okok *okok *okok *okok *okok koK koK
14 KKk KKk KKk KKk KKk *okok *okok
15 *okok *okok *okok koK koK *okok koK
16 *okok *okok *okok *okok *okok *okok koK
17 *kkok *kkok *kkok koK koK *okok koK
18 *okok *okok *okok *okok *okok *okok koK
19 koK koK *okok koK koK *okok koK
20 KKk KKk KKk KKk KoKk *okok *okok
21 KKk KKk KKk KKk KoKk *okok *okok
22 KKk KKk KKk KoKk KoKk *okok *okok
23 *okok *okok *okok *okok *okok *okok koK
24 KKk KKk KKk KoKk KoKk *okok *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—ﬁ;’ﬂ H13.6.5 36.1 brd j&;—ﬁjﬁi H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = j&;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H25.12.31 DEAREIE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

T RE28%1HTH
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 *kkok *kkok *okok *okok *okok *okok koK
2 *kkok *kkok *okok *okok *okok koK koK
3 *okok *okok *okok *okok *okok *okok koK
4 *kkok *kkok *okok koK koK koK koK
5 *okok *okok *okok *okok *okok *okok koK
6 *okok *okok *okok koK koK koK koK
7 *kkok *kkok *okok *okok *okok *okok koK
8 *okok *okok *okok koK koK koK koK
9 *okok *okok *okok *okok *okok *okok koK
10 KKk KKk KKk KKk KKk *okok KoKk
11 KKk KKk KKk KoKk KoKk *okok KoKk
12 KKk KKk KKk KKk KKk *okok *okok
13 *okok *okok *okok *okok *okok koK koK
14 KKk KKk KKk KKk KKk *okok *okok
15 *okok *okok *okok koK koK *okok koK
16 *okok *okok *okok *okok *okok *okok koK
17 *kkok *kkok *kkok koK koK *okok koK
18 *okok *okok *okok *okok *okok *okok koK
19 koK koK *okok koK koK *okok koK
20 KKk KKk KKk KKk KoKk *okok *okok
21 KKk KKk KKk KKk KoKk *okok *okok
22 KKk KKk KKk KoKk KoKk *okok *okok
23 *okok *okok *okok *okok *okok *okok koK
24 KKk KKk KKk KoKk KoKk *okok *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—ﬁ;’ﬂ H13.6.5 36.1 brd j&;—ﬁjﬁi H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = j&;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H25.12.31 DEAREIE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

k2841 H8H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 *kkok *kkok *okok *okok *okok *okok koK
2 *kkok *kkok *okok *okok *okok koK koK
3 *okok *okok *okok *okok *okok *okok koK
4 *kkok *kkok *okok koK koK koK koK
5 *okok *okok *okok *okok *okok *okok koK
6 *okok *okok *okok koK koK koK koK
7 *kkok *kkok *okok *okok *okok *okok koK
8 *okok *okok *okok koK koK koK koK
9 *okok *okok *okok *okok *okok *okok koK
10 KKk KKk KKk KKk KKk *okok KoKk
11 KKk KKk KKk KoKk KoKk *okok KoKk
12 KKk KKk KKk KKk KKk *okok *okok
13 *okok *okok *okok *okok *okok koK koK
14 KKk KKk KKk KKk KKk *okok *okok
15 *okok *okok *okok koK koK *okok koK
16 *okok *okok *okok *okok *okok *okok koK
17 *kkok *kkok *kkok koK koK *okok koK
18 *okok *okok *okok *okok *okok *okok koK
19 koK koK *okok koK koK *okok koK
20 KKk KKk KKk KKk KoKk *okok *okok
21 KKk KKk KKk KKk KoKk *okok *okok
22 KKk KKk KKk KoKk KoKk *okok *okok
23 *okok *okok *okok *okok *okok *okok koK
24 KKk KKk KKk KoKk KoKk *okok *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—ﬁ;’ﬂ H13.6.5 36.1 brd j&;—ﬁjﬁi H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = j&;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H25.12.31 DEAREIE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

T RpE28%1H9H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 *kkok *kkok *okok *okok *okok *okok koK
2 *kkok *kkok *okok *okok *okok koK koK
3 *okok *okok *okok *okok *okok *okok koK
4 *kkok *kkok *okok koK koK koK koK
5 *okok *okok *okok *okok *okok *okok koK
6 *okok *okok *okok koK koK koK koK
7 *kkok *kkok *okok *okok *okok *okok koK
8 *okok *okok *okok koK koK koK koK
9 *okok *okok *okok *okok *okok *okok koK
10 KKk KKk KKk KKk KKk *okok KoKk
11 KKk KKk KKk KoKk KoKk *okok KoKk
12 KKk KKk KKk KKk KKk *okok *okok
13 *okok *okok *okok *okok *okok koK koK
14 KKk KKk KKk KKk KKk *okok *okok
15 *okok *okok *okok koK koK *okok koK
16 *okok *okok *okok *okok *okok *okok koK
17 *kkok *kkok *kkok koK koK *okok koK
18 *okok *okok *okok *okok *okok *okok koK
19 koK koK *okok koK koK *okok koK
20 KKk KKk KKk KKk KoKk *okok *okok
21 KKk KKk KKk KKk KoKk *okok *okok
22 KKk KKk KKk KoKk KoKk *okok *okok
23 *okok *okok *okok *okok *okok *okok koK
24 KKk KKk KKk KoKk KoKk *okok *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—ﬁ;’ﬂ H13.6.5 36.1 brd j&;—ﬁjﬁi H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = j&;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H25.12.31 DEAREIE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

R 2841 A 10H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 *kkok *kkok *okok *okok *okok *okok koK
2 *kkok *kkok *okok *okok *okok koK koK
3 *okok *okok *okok *okok *okok *okok koK
4 *kkok *kkok *okok koK koK koK koK
5 *okok *okok *okok *okok *okok *okok koK
6 *okok *okok *okok koK koK koK koK
7 *kkok *kkok *okok *okok *okok *okok koK
8 *okok *okok *okok koK koK koK koK
9 *okok *okok *okok *okok *okok *okok koK
10 KKk KKk KKk KKk KKk *okok KoKk
11 KKk KKk KKk KoKk KoKk *okok KoKk
12 KKk KKk KKk KKk KKk *okok *okok
13 *okok *okok *okok *okok *okok koK koK
14 KKk KKk KKk KKk KKk *okok *okok
15 *okok *okok *okok koK koK *okok koK
16 *okok *okok *okok *okok *okok *okok koK
17 *kkok *kkok *kkok koK koK *okok koK
18 *okok *okok *okok *okok *okok *okok koK
19 koK koK *okok koK koK *okok koK
20 KKk KKk KKk KKk KoKk *okok *okok
21 KKk KKk KKk KKk KoKk *okok *okok
22 KKk KKk KKk KoKk KoKk *okok *okok
23 *okok *okok *okok *okok *okok *okok koK
24 KKk KKk KKk KoKk KoKk *okok *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—ﬁ;’ﬂ H13.6.5 36.1 brd j&;—ﬁ;ﬂ H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = j&;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H25.12.31 DEAREIE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

T RE284F1A11H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 *kkok *kkok *okok *okok *okok *okok koK
2 *kkok *kkok *okok *okok *okok koK koK
3 *okok *okok *okok *okok *okok *okok koK
4 *kkok *kkok *okok koK koK koK koK
5 *okok *okok *okok *okok *okok *okok koK
6 *okok *okok *okok koK koK koK koK
7 *kkok *kkok *okok *okok *okok *okok koK
8 *okok *okok *okok koK koK koK koK
9 *okok *okok *okok *okok *okok *okok koK
10 KKk KKk KKk KKk KKk *okok KoKk
11 KKk KKk KKk KoKk KoKk *okok KoKk
12 KKk KKk KKk KKk KKk *okok *okok
13 *okok *okok *okok *okok *okok koK koK
14 KKk KKk KKk KKk KKk *okok *okok
15 *okok *okok *okok koK koK *okok koK
16 *okok *okok *okok *okok *okok *okok koK
17 *kkok *kkok *kkok koK koK *okok koK
18 *okok *okok *okok *okok *okok *okok koK
19 koK koK *okok koK koK *okok koK
20 KKk KKk KKk KKk KoKk *okok *okok
21 KKk KKk KKk KKk KoKk *okok *okok
22 KKk KKk KKk KoKk KoKk *okok *okok
23 *okok *okok *okok *okok *okok *okok koK
24 KKk KKk KKk KoKk KoKk *okok *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—ﬁ;’ﬂ H13.6.5 36.1 brd j&;—ﬁ;ﬂ H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = j&;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H25.12.31 DEAREIE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

T RE284F1A12H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 *kkok *kkok *okok *okok *okok *okok koK
2 *kkok *kkok *okok *okok *okok koK koK
3 *okok *okok *okok *okok *okok *okok koK
4 *kkok *kkok *okok koK koK koK koK
5 *okok *okok *okok *okok *okok *okok koK
6 *okok *okok *okok koK koK koK koK
7 *kkok *kkok *okok *okok *okok *okok koK
8 *okok *okok *okok koK koK koK koK
9 *okok *okok *okok *okok *okok *okok koK
10 KKk KKk KKk KKk KKk *okok KoKk
11 KKk KKk KKk KoKk KoKk *okok KoKk
12 KKk KKk KKk KKk KKk *okok *okok
13 *okok *okok *okok *okok *okok koK koK
14 KKk KKk KKk KKk KKk *okok *okok
15 *okok *okok *okok koK koK *okok koK
16 *okok *okok *okok *okok *okok *okok koK
17 *kkok *kkok *kkok koK koK *okok koK
18 *okok *okok *okok *okok *okok *okok koK
19 koK koK *okok koK koK *okok koK
20 KKk KKk KKk KKk KoKk *okok *okok
21 KKk KKk KKk KKk KoKk *okok *okok
22 KKk KKk KKk KoKk KoKk *okok *okok
23 *okok *okok *okok *okok *okok *okok koK
24 KKk KKk KKk KoKk KoKk *okok *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—ﬁ;’ﬂ H13.6.5 36.1 brd j&;—ﬁ;ﬂ H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = j&;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H25.12.31 DEAREIE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

T RE284F1A13H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 *kkok *kkok *okok *okok *okok *okok koK
2 *kkok *kkok *okok *okok *okok koK koK
3 *okok *okok *okok *okok *okok *okok koK
4 *kkok *kkok *okok koK koK koK koK
5 *okok *okok *okok *okok *okok *okok koK
6 *okok *okok *okok koK koK koK koK
7 *kkok *kkok *okok *okok *okok *okok koK
8 *okok *okok *okok koK koK koK koK
9 *okok *okok *okok *okok *okok *okok koK
10 KKk KKk KKk KKk KKk *okok KoKk
11 KKk KKk KKk KoKk KoKk *okok KoKk
12 KKk KKk KKk KKk KKk *okok *okok
13 *okok *okok *okok *okok *okok koK koK
14 KKk KKk KKk KKk KKk *okok *okok
15 *okok *okok *okok koK koK *okok koK
16 *okok *okok *okok *okok *okok *okok koK
17 *kkok *kkok *kkok koK koK *okok koK
18 *okok *okok *okok *okok *okok *okok koK
19 koK koK *okok koK koK *okok koK
20 KKk KKk KKk KKk KoKk *okok *okok
21 KKk KKk KKk KKk KoKk *okok *okok
22 KKk KKk KKk KoKk KoKk *okok *okok
23 *okok *okok *okok *okok *okok *okok koK
24 KKk KKk KKk KoKk KoKk *okok *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BT —4
H$EFEAH °C HEFEAH °C
= "‘@’,—z_‘,;’ﬂ H13.6.5 36.1 brd j&;—ﬁjﬁi H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = j&;—ﬁj:T; H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H25.12.31 DEAREIE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

TR 2841 A 14H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 *kkok *kkok *okok *okok *okok *okok koK
2 *kkok *kkok *okok *okok *okok koK koK
3 *okok *okok *okok *okok *okok *okok koK
4 *kkok *kkok *okok koK koK koK koK
5 *okok *okok *okok *okok *okok *okok koK
6 *okok *okok *okok koK koK koK koK
7 *kkok *kkok *okok *okok *okok *okok koK
8 *okok *okok *okok koK koK koK koK
9 *okok *okok *okok *okok *okok *okok koK
10 KKk KKk KKk KKk KKk *okok KoKk
11 KKk KKk KKk KoKk KoKk *okok KoKk
12 KKk KKk KKk KKk KKk *okok *okok
13 *okok *okok *okok *okok *okok koK koK
14 KKk KKk KKk KKk KKk *okok *okok
15 *okok *okok *okok koK koK *okok koK
16 *okok *okok *okok *okok *okok *okok koK
17 *kkok *kkok *kkok koK koK *okok koK
18 *okok *okok *okok *okok *okok *okok koK
19 koK koK *okok koK koK *okok koK
20 KKk KKk KKk KKk KoKk *okok *okok
21 KKk KKk KKk KKk KoKk *okok *okok
22 KKk KKk KKk KoKk KoKk *okok *okok
23 *okok *okok *okok *okok *okok *okok koK
24 KKk KKk KKk KoKk KoKk *okok *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—ﬁ;’ﬂ H13.6.5 36.1 brd j&;—ﬁ;ﬂ H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = j&;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H25.12.31 DEAREIE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

TR 2841 A 15H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 *kkok *kkok *okok *okok *okok *okok koK
2 *kkok *kkok *okok *okok *okok koK koK
3 *okok *okok *okok *okok *okok *okok koK
4 *kkok *kkok *okok koK koK koK koK
5 *okok *okok *okok *okok *okok *okok koK
6 *okok *okok *okok koK koK koK koK
7 *kkok *kkok *okok *okok *okok *okok koK
8 *okok *okok *okok koK koK koK koK
9 *okok *okok *okok *okok *okok *okok koK
10 KKk KKk KKk KKk KKk *okok KoKk
11 KKk KKk KKk KoKk KoKk *okok KoKk
12 KKk KKk KKk KKk KKk *okok *okok
13 *okok *okok *okok *okok *okok koK koK
14 KKk KKk KKk KKk KKk *okok *okok
15 *okok *okok *okok koK koK *okok koK
16 *okok *okok *okok *okok *okok *okok koK
17 *kkok *kkok *kkok koK koK *okok koK
18 *okok *okok *okok *okok *okok *okok koK
19 koK koK *okok koK koK *okok koK
20 KKk KKk KKk KKk KoKk *okok *okok
21 KKk KKk KKk KKk KoKk *okok *okok
22 KKk KKk KKk KoKk KoKk *okok *okok
23 *okok *okok *okok *okok *okok *okok koK
24 KKk KKk KKk KoKk KoKk *okok *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—ﬁ;’ﬂ H13.6.5 36.1 brd j&;—ﬁ;ﬂ H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = j&;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H25.12.31 DEAREIE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

52841 F 16H i
1 um M= J& ] JEE H ERRFRE i KUt
mm 1 hPa

K| K| KRR R XX K| X[ XXX ¥ X X X[ X]| %% ¥ %% T

il ==l ===l =)=l =l == i
RISINIR|S|olx|dla|al mlwlc| 2l o]0 | N oo s el = 3R |

************************(jo

R X LR ] K| XXX ] XX KX KX K] KX KX | ¥ *
LRI R R R R R R A R R R A R R A R R R R A A G

R X LR ] K| XXX ] XX KX KX K] KX KX | ¥ *
LRI R R R R R R R A R R R A R R A R R R R A A G

************************m
************************&
************************ﬁ

************************3
************************\
R K| R X X KX XX X[ R XX X K[ XX K| X K| XX XX O

LRI R R R R R R R R R R R A R R A R R R R A A .
LRI R R R R R R R R I R R R R R R IR R R R R
LRI R R R R R R R A R R R A R R A R R I R A A G

LRI R R R R R R R A R R R A R R A R R R A A A G
LRI R R R R R R R A R R R A R R A R R R A A A G

LRI R R R R R R R A R R R A R R A R R R A A A G
LRI R R R R R R R A R R R A R R A R R R R A A G

Ol XX X[ X[ X %] %] % | % X| %] X[ X[ %] %] % %] %|X%]| %] %] % ¥ *

Ol % | % % % % | % | %|%| %] %] % %] % %] %] %] %] %] %] % % % %|%|

b3
H&X 0.0 0 0.0 0.0
Hax/I 0.0 0 0.0 0.0
H¥EH Kook Kook Kook Kook
=111 0.0 0.00
BEEEAT—4 IS * * *
SEFEAH °C SEFEAH °C
SE5E [ HI365 36.1 BIESE | H202.17 17.7
H$EFEAH hPa H$EFEAH hPa
| BE5E | H53.22 10245 BIESE [ HI4.11.24 936.7
HE#EFEHH|] mm/day £EFEFAH mSs
S AERE H10.11.26 2125 BAEE [ HI792 55.2
ATF—A[(%. $63.9.25~H25.12.31 DHIRZ M ZIZLTLVET,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

2841 H17H i
1 um M= J& ] JEE H ERRFRE i KUt
mm 1 hPa

K| K| KRR R XX K| X[ XXX ¥ X X X[ X]| %% ¥ %% T

il ==l ===l =)=l =l == i
RISINIR|S|olx|dla|al mlwlc| 2l o]0 | N oo s el = 3R |

************************(jo

R X LR ] K| XXX ] XX KX KX K] KX KX | ¥ *
LRI R R R R R R A R R R A R R A R R R R A A G

R X LR ] K| XXX ] XX KX KX K] KX KX | ¥ *
LRI R R R R R R R A R R R A R R A R R R R A A G

************************m
************************&
************************ﬁ

************************3
************************\
R K| R X X KX XX X[ R XX X K[ XX K| X K| XX XX O

LRI R R R R R R R R R R R A R R A R R R R A A .
LRI R R R R R R R R I R R R R R R IR R R R R
LRI R R R R R R R A R R R A R R A R R I R A A G

LRI R R R R R R R A R R R A R R A R R R A A A G
LRI R R R R R R R A R R R A R R A R R R A A A G

LRI R R R R R R R A R R R A R R A R R R A A A G
LRI R R R R R R R A R R R A R R A R R R R A A G

Ol XX X[ X[ X %] %] % | % X| %] X[ X[ %] %] % %] %|X%]| %] %] % ¥ *

Ol % | % % % % | % | %|%| %] %] % %] % %] %] %] %] %] %] % % % %|%|

b3
H&X 0.0 0 0.0 0.0
Hax/I 0.0 0 0.0 0.0
H¥EH Kook Kook Kook Kook
=111 0.0 0.00
BEEEAT—4 IS * * *
SEFEAH °C SEFEAH °C
SE5E [ HI365 36.1 BIESE | H202.17 17.7
H$EFEAH hPa H$EFEAH hPa
| BE5E | H53.22 10245 BIESE [ HI4.11.24 936.7
HE#EFEHH|] mm/day £EFEFAH mSs
S AERE H10.11.26 2125 BAEE [ HI792 55.2
ATF—A[(%. $63.9.25~H25.12.31 DHIRZ M ZIZLTLVET,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

528417 18H i
1 um M= J& ] JEE H ERRFRE i KUt
mm 1 hPa

K| K| KRR R XX K| X[ XXX ¥ X X X[ X]| %% ¥ %% T

il ==l ===l =)=l =l == i
RISINIR|S|olx|dla|al mlwlc| 2l o]0 | N oo s el = 3R |

************************(jo

R X LR ] K| XXX ] XX KX KX K] KX KX | ¥ *
LRI R R R R R R A R R R A R R A R R R R A A G

R X LR ] K| XXX ] XX KX KX K] KX KX | ¥ *
LRI R R R R R R R A R R R A R R A R R R R A A G

************************m
************************&
************************ﬁ

************************3
************************\
R K| R X X KX XX X[ R XX X K[ XX K| X K| XX XX O

LRI R R R R R R R R R R R A R R A R R R R A A .
LRI R R R R R R R R I R R R R R R IR R R R R
LRI R R R R R R R A R R R A R R A R R I R A A G

LRI R R R R R R R A R R R A R R A R R R A A A G
LRI R R R R R R R A R R R A R R A R R R A A A G

LRI R R R R R R R A R R R A R R A R R R A A A G
LRI R R R R R R R A R R R A R R A R R R R A A G

Ol XX X[ X[ X %] %] % | % X| %] X[ X[ %] %] % %] %|X%]| %] %] % ¥ *

Ol % | % % % % | % | %|%| %] %] % %] % %] %] %] %] %] %] % % % %|%|

b3
H&X 0.0 0 0.0 0.0
Hax/I 0.0 0 0.0 0.0
H¥EH Kook Kook Kook Kook
=111 0.0 0.00
BEEEAT—4 IS * * *
SEFEAH °C SEFEAH °C
SE5E [ HI365 36.1 BIESE | H202.17 17.7
H$EFEAH hPa H$EFEAH hPa
| BE5E | H53.22 10245 BIESE [ HI4.11.24 936.7
HE#EFEHH|] mm/day £EFEFAH mSs
S AERE H10.11.26 2125 BAEE [ HI792 55.2
ATF—A[(%. $63.9.25~H25.12.31 DHIRZ M ZIZLTLVET,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

2841 196 i
1 um M= J& ] JEE H ERRFRE i KUt
mm 1 hPa

K| K| KRR R XX K| X[ XXX ¥ X X X[ X]| %% ¥ %% T

il ==l ===l =)=l =l == i
RISINIR|S|olx|dla|al mlwlc| 2l o]0 | N oo s el = 3R |

************************(jo

R X LR ] K| XXX ] XX KX KX K] KX KX | ¥ *
LRI R R R R R R A R R R A R R A R R R R A A G

R X LR ] K| XXX ] XX KX KX K] KX KX | ¥ *
LRI R R R R R R R A R R R A R R A R R R R A A G

************************m
************************&
************************ﬁ

************************3
************************\
R K| R X X KX XX X[ R XX X K[ XX K| X K| XX XX O

LRI R R R R R R R R R R R A R R A R R R R A A .
LRI R R R R R R R R I R R R R R R IR R R R R
LRI R R R R R R R A R R R A R R A R R I R A A G

LRI R R R R R R R A R R R A R R A R R R A A A G
LRI R R R R R R R A R R R A R R A R R R A A A G

LRI R R R R R R R A R R R A R R A R R R A A A G
LRI R R R R R R R A R R R A R R A R R R R A A G

Ol XX X[ X[ X %] %] % | % X| %] X[ X[ %] %] % %] %|X%]| %] %] % ¥ *

Ol % | % % % % | % | %|%| %] %] % %] % %] %] %] %] %] %] % % % %|%|

b3
H&X 0.0 0 0.0 0.0
Hax/I 0.0 0 0.0 0.0
H¥EH Kook Kook Kook Kook
=111 0.0 0.00
BEEEAT—4 IS * * *
SEFEAH °C SEFEAH °C
SE5E [ HI365 36.1 BIESE | H202.17 17.7
H$EFEAH hPa H$EFEAH hPa
| BE5E | H53.22 10245 BIESE [ HI4.11.24 936.7
HE#EFEHH|] mm/day £EFEFAH mSs
S AERE H10.11.26 2125 BAEE [ HI792 55.2
ATF—A[(%. $63.9.25~H25.12.31 DHIRZ M ZIZLTLVET,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

75284 1 F 206 i
1 um M= J& ] JEE H ERRFRE i KUt
mm 1 hPa

K| K| KRR R XX K| X[ XXX ¥ X X X[ X]| %% ¥ %% T

il ==l ===l =)=l =l == i
RISINIR|S|olx|dla|al mlwlc| 2l o]0 | N oo s el = 3R |

************************(jo

R X LR ] K| XXX ] XX KX KX K] KX KX | ¥ *
LRI R R R R R R A R R R A R R A R R R R A A G

R X LR ] K| XXX ] XX KX KX K] KX KX | ¥ *
LRI R R R R R R R A R R R A R R A R R R R A A G

************************m
************************&
************************ﬁ

************************3
************************\
R K| R X X KX XX X[ R XX X K[ XX K| X K| XX XX O

LRI R R R R R R R R R R R A R R A R R R R A A .
LRI R R R R R R R R I R R R R R R IR R R R R
LRI R R R R R R R A R R R A R R A R R I R A A G

LRI R R R R R R R A R R R A R R A R R R A A A G
LRI R R R R R R R A R R R A R R A R R R A A A G

LRI R R R R R R R A R R R A R R A R R R A A A G
LRI R R R R R R R A R R R A R R A R R R R A A G

Ol XX X[ X[ X %] %] % | % X| %] X[ X[ %] %] % %] %|X%]| %] %] % ¥ *

Ol % | % % % % | % | %|%| %] %] % %] % %] %] %] %] %] %] % % % %|%|

b3
H&X 0.0 0 0.0 0.0
Hax/I 0.0 0 0.0 0.0
H¥EH Kook Kook Kook Kook
=111 0.0 0.00
BEEEAT—4 IS * * *
SEFEAH °C SEFEAH °C
SE5E [ HI365 36.1 BIESE | H202.17 17.7
H$EFEAH hPa H$EFEAH hPa
| BE5E | H53.22 10245 BIESE [ HI4.11.24 936.7
HE#EFEHH|] mm/day £EFEFAH mSs
S AERE H10.11.26 2125 BAEE [ HI792 55.2
ATF—A[(%. $63.9.25~H25.12.31 DHIRZ M ZIZLTLVET,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

284121 H i
1 um M= J& ] JEE H ERRFRE i KUt
mm 1 hPa

K| K| KRR R XX K| X[ XXX ¥ X X X[ X]| %% ¥ %% T

il ==l ===l =)=l =l == i
RISINIR|S|olx|dla|al mlwlc| 2l o]0 | N oo s el = 3R |

************************(jo

R X LR ] K| XXX ] XX KX KX K] KX KX | ¥ *
LRI R R R R R R A R R R A R R A R R R R A A G

R X LR ] K| XXX ] XX KX KX K] KX KX | ¥ *
LRI R R R R R R R A R R R A R R A R R R R A A G

************************m
************************&
************************ﬁ

************************3
************************\
R K| R X X KX XX X[ R XX X K[ XX K| X K| XX XX O

LRI R R R R R R R R R R R A R R A R R R R A A .
LRI R R R R R R R R I R R R R R R IR R R R R
LRI R R R R R R R A R R R A R R A R R I R A A G

LRI R R R R R R R A R R R A R R A R R R A A A G
LRI R R R R R R R A R R R A R R A R R R A A A G

LRI R R R R R R R A R R R A R R A R R R A A A G
LRI R R R R R R R A R R R A R R A R R R R A A G

Ol XX X[ X[ X %] %] % | % X| %] X[ X[ %] %] % %] %|X%]| %] %] % ¥ *

Ol % | % % % % | % | %|%| %] %] % %] % %] %] %] %] %] %] % % % %|%|

b3
H&X 0.0 0 0.0 0.0
Hax/I 0.0 0 0.0 0.0
H¥EH Kook Kook Kook Kook
=111 0.0 0.00
BEEEAT—4 IS * * *
SEFEAH °C SEFEAH °C
SE5E [ HI365 36.1 BIESE | H202.17 17.7
H$EFEAH hPa H$EFEAH hPa
| BE5E | H53.22 10245 BIESE [ HI4.11.24 936.7
HE#EFEHH|] mm/day £EFEFAH mSs
S AERE H10.11.26 2125 BAEE [ HI792 55.2
ATF—A[(%. $63.9.25~H25.12.31 DHIRZ M ZIZLTLVET,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

1284 1 228 i
1 um M= J& ] JEE H ERRFRE i KUt
mm 1 hPa

K| K| KRR R XX K| X[ XXX ¥ X X X[ X]| %% ¥ %% T

il ==l ===l =)=l =l == i
RISINIR|S|olx|dla|al mlwlc| 2l o]0 | N oo s el = 3R |

************************(jo

R X LR ] K| XXX ] XX KX KX K] KX KX | ¥ *
LRI R R R R R R A R R R A R R A R R R R A A G

R X LR ] K| XXX ] XX KX KX K] KX KX | ¥ *
LRI R R R R R R R A R R R A R R A R R R R A A G

************************m
************************&
************************ﬁ

************************3
************************\
R K| R X X KX XX X[ R XX X K[ XX K| X K| XX XX O

LRI R R R R R R R R R R R A R R A R R R R A A .
LRI R R R R R R R R I R R R R R R IR R R R R
LRI R R R R R R R A R R R A R R A R R I R A A G

LRI R R R R R R R A R R R A R R A R R R A A A G
LRI R R R R R R R A R R R A R R A R R R A A A G

LRI R R R R R R R A R R R A R R A R R R A A A G
LRI R R R R R R R A R R R A R R A R R R R A A G

Ol XX X[ X[ X %] %] % | % X| %] X[ X[ %] %] % %] %|X%]| %] %] % ¥ *

Ol % | % % % % | % | %|%| %] %] % %] % %] %] %] %] %] %] % % % %|%|

b3
H&X 0.0 0 0.0 0.0
Hax/I 0.0 0 0.0 0.0
H¥EH Kook Kook Kook Kook
=111 0.0 0.00
BEEEAT—4 IS * * *
SEFEAH °C SEFEAH °C
SE5E [ HI365 36.1 BIESE | H202.17 17.7
H$EFEAH hPa H$EFEAH hPa
| BE5E | H53.22 10245 BIESE [ HI4.11.24 936.7
HE#EFEHH|] mm/day £EFEFAH mSs
S AERE H10.11.26 2125 BAEE [ HI792 55.2
ATF—A[(%. $63.9.25~H25.12.31 DHIRZ M ZIZLTLVET,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

152845 1 236 i
1 um M= J& ] JEE H ERRFRE i KUt
mm 1 hPa

K| K| KRR R XX K| X[ XXX ¥ X X X[ X]| %% ¥ %% T

il ==l ===l =)=l =l == i
RISINIR|S|olx|dla|al mlwlc| 2l o]0 | N oo s el = 3R |

************************(jo

R X LR ] K| XXX ] XX KX KX K] KX KX | ¥ *
LRI R R R R R R A R R R A R R A R R R R A A G

R X LR ] K| XXX ] XX KX KX K] KX KX | ¥ *
LRI R R R R R R R A R R R A R R A R R R R A A G

************************m
************************&
************************ﬁ

************************3
************************\
R K| R X X KX XX X[ R XX X K[ XX K| X K| XX XX O

LRI R R R R R R R R R R R A R R A R R R R A A .
LRI R R R R R R R R I R R R R R R IR R R R R
LRI R R R R R R R A R R R A R R A R R I R A A G

LRI R R R R R R R A R R R A R R A R R R A A A G
LRI R R R R R R R A R R R A R R A R R R A A A G

LRI R R R R R R R A R R R A R R A R R R A A A G
LRI R R R R R R R A R R R A R R A R R R R A A G

Ol XX X[ X[ X %] %] % | % X| %] X[ X[ %] %] % %] %|X%]| %] %] % ¥ *

Ol % | % % % % | % | %|%| %] %] % %] % %] %] %] %] %] %] % % % %|%|

b3
H&X 0.0 0 0.0 0.0
Hax/I 0.0 0 0.0 0.0
H¥EH Kook Kook Kook Kook
=111 0.0 0.00
BEEEAT—4 IS * * *
SEFEAH °C SEFEAH °C
SE5E [ HI365 36.1 BIESE | H202.17 17.7
H$EFEAH hPa H$EFEAH hPa
| BE5E | H53.22 10245 BIESE [ HI4.11.24 936.7
HE#EFEHH|] mm/day £EFEFAH mSs
S AERE H10.11.26 2125 BAEE [ HI792 55.2
ATF—A[(%. $63.9.25~H25.12.31 DHIRZ M ZIZLTLVET,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

15284 1 F 24 i
1 um M= J& ] JEE H ERRFRE i KUt
mm 1 hPa

K| K| KRR R XX K| X[ XXX ¥ X X X[ X]| %% ¥ %% T

il ==l ===l =)=l =l == i
RISINIR|S|olx|dla|al mlwlc| 2l o]0 | N oo s el = 3R |

************************(jo

R X LR ] K| XXX ] XX KX KX K] KX KX | ¥ *
LRI R R R R R R A R R R A R R A R R R R A A G

R X LR ] K| XXX ] XX KX KX K] KX KX | ¥ *
LRI R R R R R R R A R R R A R R A R R R R A A G

************************m
************************&
************************ﬁ

************************3
************************\
R K| R X X KX XX X[ R XX X K[ XX K| X K| XX XX O

LRI R R R R R R R R R R R A R R A R R R R A A .
LRI R R R R R R R R I R R R R R R IR R R R R
LRI R R R R R R R A R R R A R R A R R I R A A G

LRI R R R R R R R A R R R A R R A R R R A A A G
LRI R R R R R R R A R R R A R R A R R R A A A G

LRI R R R R R R R A R R R A R R A R R R A A A G
LRI R R R R R R R A R R R A R R A R R R R A A G

Ol XX X[ X[ X %] %] % | % X| %] X[ X[ %] %] % %] %|X%]| %] %] % ¥ *

Ol % | % % % % | % | %|%| %] %] % %] % %] %] %] %] %] %] % % % %|%|

b3
H&X 0.0 0 0.0 0.0
Hax/I 0.0 0 0.0 0.0
H¥EH Kook Kook Kook Kook
=111 0.0 0.00
BEEEAT—4 IS * * *
SEFEAH °C SEFEAH °C
SE5E [ HI365 36.1 BIESE | H202.17 17.7
H$EFEAH hPa H$EFEAH hPa
| BE5E | H53.22 10245 BIESE [ HI4.11.24 936.7
HE#EFEHH|] mm/day £EFEFAH mSs
S AERE H10.11.26 2125 BAEE [ HI792 55.2
ATF—A[(%. $63.9.25~H25.12.31 DHIRZ M ZIZLTLVET,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

72841 255 i
1 um M= J& ] JEE H ERRFRE i KUt
mm 1 hPa

K| K| KRR R XX K| X[ XXX ¥ X X X[ X]| %% ¥ %% T

il ==l ===l =)=l =l == i
RISINIR|S|olx|dla|al mlwlc| 2l o]0 | N oo s el = 3R |

************************(jo

R X LR ] K| XXX ] XX KX KX K] KX KX | ¥ *
LRI R R R R R R A R R R A R R A R R R R A A G

R X LR ] K| XXX ] XX KX KX K] KX KX | ¥ *
LRI R R R R R R R A R R R A R R A R R R R A A G

************************m
************************&
************************ﬁ

************************3
************************\
R K| R X X KX XX X[ R XX X K[ XX K| X K| XX XX O

LRI R R R R R R R R R R R A R R A R R R R A A .
LRI R R R R R R R R I R R R R R R IR R R R R
LRI R R R R R R R A R R R A R R A R R I R A A G

LRI R R R R R R R A R R R A R R A R R R A A A G
LRI R R R R R R R A R R R A R R A R R R A A A G

LRI R R R R R R R A R R R A R R A R R R A A A G
LRI R R R R R R R A R R R A R R A R R R R A A G

Ol XX X[ X[ X %] %] % | % X| %] X[ X[ %] %] % %] %|X%]| %] %] % ¥ *

Ol % | % % % % | % | %|%| %] %] % %] % %] %] %] %] %] %] % % % %|%|

b3
H&X 0.0 0 0.0 0.0
Hax/I 0.0 0 0.0 0.0
H¥EH Kook Kook Kook Kook
=111 0.0 0.00
BEEEAT—4 IS * * *
SEFEAH °C SEFEAH °C
SE5E [ HI365 36.1 BIESE | H202.17 17.7
H$EFEAH hPa H$EFEAH hPa
| BE5E | H53.22 10245 BIESE [ HI4.11.24 936.7
HE#EFEHH|] mm/day £EFEFAH mSs
S AERE H10.11.26 2125 BAEE [ HI792 55.2
ATF—A[(%. $63.9.25~H25.12.31 DHIRZ M ZIZLTLVET,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

T 75.284F 1 F 26 H i
1 um M= J& ] JEE H ERRFRE i KUt
mm 1 hPa

K| K| KRR R XX K| X[ XXX ¥ X X X[ X]| %% ¥ %% T

il ==l ===l =)=l =l == i
RISINIR|S|olx|dla|al mlwlc| 2l o]0 | N oo s el = 3R |

************************(jo

R X LR ] K| XXX ] XX KX KX K] KX KX | ¥ *
LRI R R R R R R A R R R A R R A R R R R A A G

R X LR ] K| XXX ] XX KX KX K] KX KX | ¥ *
LRI R R R R R R R A R R R A R R A R R R R A A G

************************m
************************&
************************ﬁ

************************3
************************\
R K| R X X KX XX X[ R XX X K[ XX K| X K| XX XX O

LRI R R R R R R R R R R R A R R A R R R R A A .
LRI R R R R R R R R I R R R R R R IR R R R R
LRI R R R R R R R A R R R A R R A R R I R A A G

LRI R R R R R R R A R R R A R R A R R R A A A G
LRI R R R R R R R A R R R A R R A R R R A A A G

LRI R R R R R R R A R R R A R R A R R R A A A G
LRI R R R R R R R A R R R A R R A R R R R A A G

Ol XX X[ X[ X %] %] % | % X| %] X[ X[ %] %] % %] %|X%]| %] %] % ¥ *

Ol % | % % % % | % | %|%| %] %] % %] % %] %] %] %] %] %] % % % %|%|

b3
H&X 0.0 0 0.0 0.0
Hax/I 0.0 0 0.0 0.0
H¥EH Kook Kook Kook Kook
=111 0.0 0.00
BEEEAT—4 IS * * *
SEFEAH °C SEFEAH °C
SE5E [ HI365 36.1 BIESE | H202.17 17.7
H$EFEAH hPa H$EFEAH hPa
| BE5E | H53.22 10245 BIESE [ HI4.11.24 936.7
HE#EFEHH|] mm/day £EFEFAH mSs
S AERE H10.11.26 2125 BAEE [ HI792 55.2
ATF—A[(%. $63.9.25~H25.12.31 DHIRZ M ZIZLTLVET,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

2841 F27H i
1 um M= J& ] JEE H ERRFRE i KUt
mm 1 hPa

K| K| KRR R XX K| X[ XXX ¥ X X X[ X]| %% ¥ %% T

il ==l ===l =)=l =l == i
RISINIR|S|olx|dla|al mlwlc| 2l o]0 | N oo s el = 3R |

************************(jo

R X LR ] K| XXX ] XX KX KX K] KX KX | ¥ *
LRI R R R R R R A R R R A R R A R R R R A A G

R X LR ] K| XXX ] XX KX KX K] KX KX | ¥ *
LRI R R R R R R R A R R R A R R A R R R R A A G

************************m

************************&
************************ﬁ

************************3
************************\
R K| R X X KX XX X[ R XX X K[ XX K| X K| XX XX O

LRI R R R R R R R R R R R A R R A R R R R A A .
LRI R R R R R R R R I R R R R R R IR R R R R
LRI R R R R R R R A R R R A R R A R R I R A A G

LRI R R R R R R R A R R R A R R A R R R A A A G
LRI R R R R R R R A R R R A R R A R R R A A A G

LRI R R R R R R R A R R R A R R A R R R A A A G
LRI R R R R R R R A R R R A R R A R R R R A A G

Ol XX X[ X[ X %] %] % | % X| %] X[ X[ %] %] % %] %|X%]| %] %] % ¥ *

Ol % | % % % % | % | %|%| %] %] % %] % %] %] %] %] %] %] % % % %|%|

b3
H&X 0.0 0 0.0 0.0
Hax/I 0.0 0 0.0 0.0
H¥EH Kook Kook Kook Kook
=111 0.0 0.00
BEgAaT—42
SEFEAH °C SEFEAH °C
SE5E [ HI365 36.1 BIESE [ H202.17 17.7
H$EFEAH hPa H$EFEAH hPa
| BE5E | H53.22 10245 BIESE [ HI4.11.24 936.7
HE#EFEHH|] mm/day £EFEFAH mSs
S K HFE[ H10.11.26 2125 BAEE [ HI792 55.2
ATF—A[(%. $63.9.25~H25.12.31 DHIRZ M ZIZLTLVET,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

752845 1 F 286 i
1 um M= J& ] JEE H ERRFRE i KUt
mm 1 hPa

K| K| KRR R XX K| X[ XXX ¥ X X X[ X]| %% ¥ %% T

il ==l ===l =)=l =l == i
RISINIR|S|olx|dla|al mlwlc| 2l o]0 | N oo s el = 3R |

************************(jo

R X LR ] K| XXX ] XX KX KX K] KX KX | ¥ *
LRI R R R R R R A R R R A R R A R R R R A A G

R X LR ] K| XXX ] XX KX KX K] KX KX | ¥ *
LRI R R R R R R R A R R R A R R A R R R R A A G

************************m
************************&
************************ﬁ

************************3
************************\
R K| R X X KX XX X[ R XX X K[ XX K| X K| XX XX O

LRI R R R R R R R R R R R A R R A R R R R A A .
LRI R R R R R R R R I R R R R R R IR R R R R
LRI R R R R R R R A R R R A R R A R R I R A A G

LRI R R R R R R R A R R R A R R A R R R A A A G
LRI R R R R R R R A R R R A R R A R R R A A A G

LRI R R R R R R R A R R R A R R A R R R A A A G
LRI R R R R R R R A R R R A R R A R R R R A A G

Ol XX X[ X[ X %] %] % | % X| %] X[ X[ %] %] % %] %|X%]| %] %] % ¥ *

Ol % | % % % % | % | %|%| %] %] % %] % %] %] %] %] %] %] % % % %|%|

b3
H&X 0.0 0 0.0 0.0
Hax/I 0.0 0 0.0 0.0
H¥EH Kook Kook Kook Kook
=111 0.0 0.00
BEEEAT—4 IS * * *
SEFEAH °C SEFEAH °C
SE5E [ HI365 36.1 BIESE | H202.17 17.7
H$EFEAH hPa H$EFEAH hPa
| BE5E | H53.22 10245 BIESE [ HI4.11.24 936.7
HE#EFEHH|] mm/day £EFEFAH mSs
S AERE H10.11.26 2125 BAEE [ HI792 55.2
ATF—A[(%. $63.9.25~H25.12.31 DHIRZ M ZIZLTLVET,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

7528451 298 i
1 um M= J& ] JEE H ERRFRE i KUt
mm 1 hPa

K| K| KRR R XX K| X[ XXX ¥ X X X[ X]| %% ¥ %% T

il ==l ===l =)=l =l == i
RISINIR|S|olx|dla|al mlwlc| 2l o]0 | N oo s el = 3R |

************************(jo

R X LR ] K| XXX ] XX KX KX K] KX KX | ¥ *
LRI R R R R R R A R R R A R R A R R R R A A G

R X LR ] K| XXX ] XX KX KX K] KX KX | ¥ *
LRI R R R R R R R A R R R A R R A R R R R A A G

************************m
************************&
************************ﬁ

************************3
************************\
R K| R X X KX XX X[ R XX X K[ XX K| X K| XX XX O

LRI R R R R R R R R R R R A R R A R R R R A A .
LRI R R R R R R R R I R R R R R R IR R R R R
LRI R R R R R R R A R R R A R R A R R I R A A G

LRI R R R R R R R A R R R A R R A R R R A A A G
LRI R R R R R R R A R R R A R R A R R R A A A G

LRI R R R R R R R A R R R A R R A R R R A A A G
LRI R R R R R R R A R R R A R R A R R R R A A G

Ol XX X[ X[ X %] %] % | % X| %] X[ X[ %] %] % %] %|X%]| %] %] % ¥ *

Ol % | % % % % | % | %|%| %] %] % %] % %] %] %] %] %] %] % % % %|%|

b3
H&X 0.0 0 0.0 0.0
Hax/I 0.0 0 0.0 0.0
H¥EH Kook Kook Kook Kook
=111 0.0 0.00
BEEEAT—4 IS * * *
SEFEAH °C SEFEAH °C
SE5E [ HI365 36.1 BIESE | H202.17 17.7
H$EFEAH hPa H$EFEAH hPa
| BE5E | H53.22 10245 BIESE [ HI4.11.24 936.7
HE#EFEHH|] mm/day £EFEFAH mSs
S AERE H10.11.26 2125 BAEE [ HI792 55.2
ATF—A[(%. $63.9.25~H25.12.31 DHIRZ M ZIZLTLVET,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

T 75.284F 1 A 30H i
1 um M= J& ] JEE H ERRFRE i KUt
mm 1 hPa

K| K| KRR R XX K| X[ XXX ¥ X X X[ X]| %% ¥ %% T

il ==l ===l =)=l =l == i
RISINIR|S|olx|dla|al mlwlc| 2l o]0 | N oo s el = 3R |

************************(jo

R X LR ] K| XXX ] XX KX KX K] KX KX | ¥ *
LRI R R R R R R A R R R A R R A R R R R A A G

R X LR ] K| XXX ] XX KX KX K] KX KX | ¥ *
LRI R R R R R R R A R R R A R R A R R R R A A G

************************m
************************&
************************ﬁ

************************3
************************\
R K| R X X KX XX X[ R XX X K[ XX K| X K| XX XX O

LRI R R R R R R R R R R R A R R A R R R R A A .
LRI R R R R R R R R I R R R R R R IR R R R R
LRI R R R R R R R A R R R A R R A R R I R A A G

LRI R R R R R R R A R R R A R R A R R R A A A G
LRI R R R R R R R A R R R A R R A R R R A A A G

LRI R R R R R R R A R R R A R R A R R R A A A G
LRI R R R R R R R A R R R A R R A R R R R A A G

Ol XX X[ X[ X %] %] % | % X| %] X[ X[ %] %] % %] %|X%]| %] %] % ¥ *

Ol % | % % % % | % | %|%| %] %] % %] % %] %] %] %] %] %] % % % %|%|

b3
H&X 0.0 0 0.0 0.0
Hax/I 0.0 0 0.0 0.0
H¥EH Kook Kook Kook Kook
=111 0.0 0.00
BEEEAT—4 IS * * *
SEFEAH °C SEFEAH °C
SE5E [ HI365 36.1 BIESE | H202.17 17.7
H$EFEAH hPa H$EFEAH hPa
| BE5E | H53.22 10245 BIESE [ HI4.11.24 936.7
HE#EFEHH|] mm/day £EFEFAH mSs
S AERE H10.11.26 2125 BAEE [ HI792 55.2
ATF—A[(%. $63.9.25~H25.12.31 DHIRZ M ZIZLTLVET,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

2841 F31H i
1 um M= J& ] JEE H ERRFRE i KUt
mm 1 hPa

il ==l ===l =)=l =l == i
RISINIR|S|olx|dla|al mlwlc| 2l o]0 | N oo s el = 3R |

************************(jo

R X LR ] K| XXX ] XX KX KX K] KX KX | ¥ *
LRI R R R R R R A R R R A R R A R R R R A A G

R X LR ] K| XXX ] XX KX KX K] KX KX | ¥ *
LRI R R R R R R R A R R R A R R A R R R R A A G

************************m
************************&
************************ﬁ

************************3
************************\
R K| R X X KX XX X[ R XX X K[ XX K| X K| XX XX O

LRI R R R R R R R R R R R A R R A R R R R A A .
LRI R R R R R R R R I R R R R R R IR R R R R
LRI R R R R R R R A R R R A R R A R R I R A A G

LRI R R R R R R R A R R R A R R A R R R A A A G
LRI R R R R R R R A R R R A R R A R R R A A A G

LRI R R R R R R R A R R R A R R A R R R A A A G
K| K| XK R R XX K| K] H]| X K| X X[ K| XXX X% ¥ X %% T
LRI R R R R R R R A R R R A R R A R R R R A A G

Ol XX X[ X[ X %] %] % | % X| %] X[ X[ %] %] % %] %|X%]| %] %] % ¥ *

*¥|O|O x| % % %% %] %] *| % %% %] %] %] %] %] % x| %% %|%|%| %X

H&X 0.0 0 0.0 0.0
Hz=x/ 0.0 0 0.0 0.0
H¥EH * % %k * % %k * % %k * % %k
=111 0.0 0.00
BEEEAT—4 IS * * *
SEFEAH °C SEFEAH °C
SE5E [ HI365 36.1 BIESE | H202.17 17.7
H$EFEAH hPa H$EFEAH hPa
| BE5E | H53.22 10245 BIESE [ HI4.11.24 936.7
HE#EFEHH|] mm/day £EFEFAH mSs
S AERE H10.11.26 2125 BAEE [ HI792 55.2
ATF—A[(%. $63.9.25~H25.12.31 DHIRZ M ZIZLTLVET,




